BIC

5x10°

log[ Relative Probability ]

—200

Window Half—Width (km/s)

2x108

108

2x10°

5

10

0

—100

1000

100

rm479 2/(410941 —4964)=0.998
F T T T T T T f

BIC 469419 28 ABIC 0. OOO AlogP 0.0000
x 405253.59 Ax 0.000 AlogP 0.0000 7

e —

S

BIC
----------------- X2
L ABIC —403659 1160 :( J
i : A —403659 -3.2 |
4874 : 4874 : 4964
A ; ACs ; ACSF
L | L | L | L | L | L |
20 40 60 80 100 120
120 iterations
rm479 2/(410941—4964) =0.998
T | T | T | |
i BIC 469419 28 ABIC O. OOO AlogP 0.0000 1
L . ) , i
- 4874 | 4874 (||| 4984
- A ACs
E L | L | L |
20 40 60 80 100 120
120 iterations
Fe2 22% 413+190 km/s
rm479 BLR 9350 NLR 900 km/s
i ' T ' T ' T ' T T f
---------------- S I 1 =
I A S S P N[
i e e 5
L J—JLI. —— i
LIl ag7a— L L 487 4964 ]
L - - — .
A ; ~lacg — — ! ~ACF o~ - T
, I , I 1, I , [ i I , I
20 40 60 80 100 120

120 iterations

kdh1 14-0ct-2021 04:53



